

Konvergenzordnung

Newton:
$$X_{k+1} = X_k - \frac{f(X_k)}{f'(X_k)}$$

Secant:
$$X_{k+1} = X_k - f(X_k) \frac{X_{k-1} - X_k}{f(X_{k-1}) - f(X_k)}$$

$$|X_{k+1} - X^*| \leq C |X_k - X^*|$$

\downarrow exakt $\quad \downarrow$ konst ≤ 1

Conv. ordn.

$$\left[\begin{array}{l} r=1: |X_{k+1} - X^*| \leq C |X_k - X^*| \\ r=2: |X_{k+1} - X^*| \leq C |X_k - X^*|^2 \end{array} \right]$$

Nürz $r=1$: $k=0: |X_1 - X^*| \leq C |X_0 - X^*|$
 Einjær konvergens $k=1: |X_2 - X^*| \leq C |X_1 - X^*| \leq C^2 |X_0 - X^*|$
 \dots
 $k=n: |X_n - X^*| \leq C^n |X_0 - X^*|$

Konvergenzordnung

$$\boxed{\gamma = 2: |x_{k+1} - x^*| \leq C |x_k - x^*|^2}$$

↓
quadratische
Konvergenz

$$k=0: |x_1 - x^*| \leq C |x_0 - x^*|^2$$

$$\begin{aligned} k=1: |x_2 - x^*| &\leq C |x_1 - x^*|^2 \leq \\ &\leq C \cdot \left[(C |x_0 - x^*|^2)^2 \right] \\ &= C^3 \cdot |x_0 - x^*|^4 \end{aligned}$$

$$\begin{aligned} k=2: |x_3 - x^*| &\leq C |x_2 - x^*|^2 \leq \\ &\leq C \cdot \left((C^3 \cdot |x_0 - x^*|^4)^2 \right) \\ &= C^7 \cdot |x_0 - x^*|^8 \end{aligned}$$

$$\begin{aligned} k=3: |x_4 - x^*| &\leq C \cdot |x_3 - x^*|^2 \leq \\ &\leq C \cdot \left((C^7 \cdot |x_0 - x^*|^8)^2 \right) \\ &= C^{15} \cdot |x_0 - x^*|^{16} \end{aligned}$$

$$\boxed{n \stackrel{n}{=} k+1 \quad |x_n - x^*| \leq C \cdot |x_0 - x^*|^{2^n}}$$

$$x^{k+1} = g(x^k)$$

Exact $x^* = g(x^*)$

$$x^* - g(x^*) = 0$$

$$g(x) = x^2$$

$$x^{k+1} = g(x^k) = (x^k)^2$$

$$g(x^*) = (x^*)^2$$

$$x^* - (x^*)^2 = 0$$

$$x^* (1 - x^*) = 0$$

$$x^* = 0, x^* = 1; |g'(x^*)| < 1$$

$$|g'(x^*)| < 1 -$$

Konvergenz

$$g(x) = x^2$$

$$g'(x) = 2x$$

$$|g'(x^*)| = |g'(0)| = 0 < 1$$

- Konvergenz

$$|g'(x^*)| = |g'(1)| = 2 > 1$$

divergenz

$$g(x) = x^2 = 0$$

$$f(x) = x^2 - x + x \rightarrow x = (x^2 + x) g(x)$$

Sätt upp Newton's method

$$f_1(x,y) = (\cos x)^2 \sin y - \sin x^2 = 0$$

$$f_2(x,y) = (\sin y)^2 \cos x - \cos y^2 = 0$$

$$J = \begin{bmatrix} \frac{\partial f_1}{\partial x} & \frac{\partial f_1}{\partial y} \\ \frac{\partial f_2}{\partial x} & \frac{\partial f_2}{\partial y} \end{bmatrix} = \begin{bmatrix} 2 \cos x \cdot (-\sin x) \cdot \sin y - 2x \cdot \cos x^2 \\ (\sin y)^2 \cdot (-\sin x) \end{bmatrix}$$

$$(\cos x)^2 \cos y$$

$$2 \sin y \cdot \cos y \cdot \cos x$$

$$- 2y \cdot (-\sin y^2)$$

$$2 \cos x^k \cdot (-\sin x^k) \cdot \sin y^k - 2x^k \cdot \cos(x^k)^2 \cdot (\cos x^k)^2 \cos y^k$$

$$J(x^k, y^k) = \begin{bmatrix} -(\sin y^k)^2 (\sin x^k) & 2 \sin y^k \cdot \cos y^k \cdot \cos x^k + 2y^k \cdot \sin y^k \end{bmatrix}$$

Newton's:

$$\begin{bmatrix} x^{k+1} \\ y^{k+1} \end{bmatrix} = \begin{bmatrix} x^k \\ y^k \end{bmatrix} - J^{-1}(x^k, y^k) \cdot \begin{bmatrix} f_1(x^k, y^k) \\ f_2(x^k, y^k) \end{bmatrix}$$